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dominant over blue scales. There are 1,024 individuals with the genotype 3G, 512
individuals with the genotype Gg, and 64 individuals with the genotype gg.

Find: the frequency of the dominant and recessive alleles and the frequency of individuals
with dominant, heterpzy gous, and :c_c_i:s_sive’;genoque,

3. Rabbit’s eats can be ejther short or floppy, where shogt ears are dominant over tloppy ears.
There are 653 individuals in 2 population. 104 rabbits have ﬂt)ppy'_e-z{r?s“ and 549 have short
ears. '

Find: the frequency of the dominant and recessive alleles and the frequency of individuals
with dominant, heterozygous, and recessive genotypes.

4. The next generation of rabbits has 560 individuaik--with’-“short ears and 840 individuals with
floppy ears. Is the population in Hardy—Weinbe;gfEquﬂibrium? Solve for p and q.

6. The ne.\:t-:.ge}néira'tiqn of pea plants has 552 plants, 546 have purple petals. Is the population in
Hardy—Weinbgrg Equilibrium? Solve for p and q.

J 5

21

Show work |




